SP-18B (CE-Sem-3) Solved Paper (2016-17)

B. Tech.
(SEM. III) ODD SEMESTER THEORY
EXAMINATION, 2016-17
SURVEYING

Time : 3 Hours Total Marks : 109

Section-A

Attempt all parts. Each part carries equal marks :

1™Correction due to refraction is given by:

/M’Ol 12D b, 00673 D2
c. 0.785 D2 d. 0.0012 D2

ARE Refer Q. 3.22, 2 Marks Questions, Page SQ-10B, Unit-3.

at do you mean by working from whole to part ?
C Refer Q. 1.8, 2 Marks Questions, Page SQ-2B, Unit-1.

»Kﬁat is levelling and why it is important in survey work ?
18] Refer Q. 3.23, 2 Marks Questions, Page SQ-10B, Unit-3.

4. ite relationship between level line and horizontal line.
- Refer Q. 2.16, 2 Marks Questions, Page SQ-5B, Unit-2.
5. For an open traverse, which is correct

a. I latitude =0 b. Z departure =0
c. Both (a) and (b) ne of the above

ANE Refer Q. 4.13, 2 Marks Questions, Page SQ-14B, Unit-2.

(10 x 2= 20)

6. _What is n{agnetic declination ?
4 Refer Q. 2.14, 2 Marks Questions, Page SQ-5B, Unit-2.

7. What is the basic importance of provision of curves in
highway ?
ABE Refer Q. 5.9, 2 Marks Questions, Page SQ—16B, Unit-5.

8. Explain the elements of simple curve, with neat sketch.
An& Refer Q. 5.8, 2 Marks Questions, Page SQ-16B, Unit-5.

9. What is triangulation ?
ABE Refer Q. 4.14, 2 Marks Questions, Page SQ-14B, Unit-4.

what is resection 9
Resection is a met

occupies a statiop vzl}?d of Olientay;
sheet. o8 Sition iso MPloyed ),
Yet vﬂl]abl:n the table
Section B on
Attempt any three Quest;
e Stiong -
1 _The dlst.ance Measype, dnl:t
¢ g‘round 18 450 m. Find th Ween two Poin ( 10=30)
horizontal distance j¢, ~© ““rectiop 4, b: o0 a sloping
a. The angle of slope jq 10, pplied apgq
p. Theslopeislins,
¢. The difference in elevation betwee,
ﬂz Refer Q. 2.10, Page 2_11B, Umt_2 n two Point is 45 -
2.

The length CD could not p
obstruction to chaining, The bearin
_ ; g of AB could not be
taken, as statl(.mA isbadly affecteq by local attraction, find
the exact bearing of the side AB and calculate length C.
ans. Refer Q. 4.8, Page 4-14B, Unit-4.

3. Explain the two point problem of plane tabling with a neat
sketch.
Ans. Resection after Orientation by Two Points :
The two-point problem consists of locating the position of a plane
table station on the drawing sheet by observation of two well-
defined points, whose positions have already been plotted on plan.
Procedure: -
i. Let A and B be the two stations plotted as a and b on the drawing
' i i i ion C, where the plane tabling
sheet Fig. 1. It is required to plot station C,
is to be done. - '
éhooso an arbitrary station D such that CD is clppmxlrx:la}tliecli1
arallel to AB /CAD and ZCBD should not be ve{ry gct:{e, W
iP; the necessary condition for good mtprsecnon of p(:tZl; by eye
Set up the p];;ne table at D. Orient it approXim
et u

: AB. Clamp the table. _
judgment such thatab is parallel to AB raw a back ray. Pivot the

! : inst a, sight A, and d 0 rays
pl“:io';dt iy ah'dnas(:cbag:glﬁt[ GBJ.Q;E;(I draw a back ray. The two rays
alidade agai ’

intersect at d,.

i

iv.
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This will not be the correct position of D as the orientation at D ig

=

not exact. .
vi. Pivot the alidade against d, and sight C. Draw a ray d,C and fix the

position of C, by estimation. o

vii. Shift the table to station C. Set up the table and orient it by back
sighting at station D. )

vil. Pivot alidade against a, sight A and draw a back ray resecting the
linedc,inc.

ix. Pivot the alidade at ¢ and sight B. Draw a ray to B. If the ray passes
through the plotted point b, the orientation of the Fah!c 1S correct
and ¢ is the correct position of C. Whereas, if this ray cuts the
previously plotted line d,b at some other point, say b,, then the
position ¢ is not the correct position of C.

x. To eliminate this error the table must be rotated by the £bab. To
do this a ranging rod O is fixed, in line with ab, far away from the
plane table. The alidade is kept along ab, and Ois bisected.

xi. The alidade is kept along ab and the table is rotated till the ranging
rod at O is bisected. It is oriented now. The table is then clamped.

xii. With alidade touching a sight A and draw a back ray to C. Then,
with alidade touching b, sight B and draw a back ray to C. The
resection of these two rays gives the position of C.

4. Aroad 8 m wide is to deflect through an angle of 60° with the
centre line radius of 300 m, the chainage of intersection
points being 3605.0 m. A transition curve is to be used at
each end of circular curve of such a length that rate of gain
of radial acceleration is 0.5 m/sec®. When speed is 50 kmph.
Find out :

Length of transition curve.

Superelevation.

Chainage of all junction points.

Refer Q. 5.23, Page 5-32B, Unit-5.

5. m long steel tape is supported at the ends. Find the
normal tension for the tape with the following details :

Epsr?

08
veyb
gureer™

— -

Cross section of e ta'»—r — »Sln-2l I “-'l'i-Hrn.:,

material =T78600 Nypp s p:: 4 mm?, unit y,, ; s
: s YHEELx g 9 €lgh

tape is Htﬂﬂdnrdlmd is 100y, 0 Nim?, the | Kbt of the tape

anse Refer Q 2.6, Page g g Unit latwhich g,
S(‘ctiuh_(:

Attc;TlPt any five questiong -
1. Explain curvatyy, and . (
The eye of an Ob-“'l‘rver ,refractmn COrrection ; 2 10= 50,

. 18 7, n levell;
able to seealightp ouse 59 msh"'l OV sea leve] g :l v ;:l:w
Find the distance pe, s

Wee
Curvature and R
A% Page3-18B, Unit.g

Ans. Contour : Refer Q. 3.21, Page 3-23B, Unit.3
Method of Interpolating Conggyy ans Stability : Ref,
Q.3.22, Page 3-24B, Unit.3 - Y3 Reler

3. What are the different ch

traverse ?

Ans. Refer Q. 4.3, Page 4-6B, Unit-4.

eck in closed traverse and open

4. State the three point Problem, explain how it is solved by
the graphical method ?
Ans. g‘énlrsetlefoint Problem : Refer Q. 6(b), Page SP-9B, Solved Paper
Procedure:
1. Set thetable at S, keep the alidade along ba, unclamp and rotate
the table to sight A clamp the table. Centre the alidade about b and
sight C. Draw ray xy through b sighting C.

AC
’

Fig. 2. Three point problem-Bessel's method.
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ng ab. Unclamp the table and rotate till B ig

2. Keep the alidade alo i
eep the ah able, centre the alidade about a and sight c.

bisected. Clamp the t

Draw ray ac’ cutting ray xy inc'. _ |
Keep the alidade along c’c. Unclamp the table and rotate till C is

bisected. Clamp the table. The table is correctly oriented.
Centering the alidade about b sight B and draw.back ray bB to
intersect cc’ in s. Now centre the alidade about a sight A and draw

back ray which should pass through s, if the work 1s correct.

5. What are the essential requirements of a transition curve ?

Derive an expression for an ideal transition curve.

Ans. Requirements of Transition Curve : Refer Q. 5.14,

Page 5-20B, Unit-5.
Expression : Refer Q. 5.16, Page 5-24B, Unit-5.

6. The apex distance of a 3° circular curve is 82.45 m. Determine
the deflection angle, tangent length and length of long
chord.

Ans. Refer Q. 5.10, Page 5-15B, Unit-5.

’}plain the indirect method of contouring. What are the

advantages and disadvantages of these method ?

Anis. Indirect Method : Refer Q. 3.22, Page 3-24B, Unit-3.
Advantages and Disadvantages of Indirect Method :
Refer Q. 3.24, Page 3-27B, Unit-3.

©OO
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b B.Tech.

(sEM. I11) ODD SEMESTER THEORY
EXAMINATION, 2017-18

SURVEYING
w’;lj
m Max. Marks : 70 - e
e Attempl all sections. If required any missing data; then choose -
Nol€* _itably. 5 .
SECTION-A
1. Attempt all questions in brief. (2 %7 =14)

a. What are the initial and final sub-cords ?

p— When the chainage of th_e first tangent point of a curve is an odd
figure, then some length is provided Lo make this chainage a round
figure. The length provided is known as the initial sub-chord.
After the initial sub-chord, a number of full chords (20 m or 30 m)
are provided. At the end of the curve, fractional length may be
required to reach the second tangent point. This length is known as
the final sub-chord.

b. /Wh'ét is a 12 cm compass ?
[ ass. Thesize of a compass is designated by its diameter. Therefore, a 12
- cm compass 1s a compass of diameter 12 cm.

c. In a map, it is found that two consecutive contours Cross
each other. What would you comment.

Ang. In general, contour lines cannot cross each ovher, except in the
case of an overhanging cliff. Therefore, the area represented in the
map includes an overhanging cliff. But the contour line should be
dotted line at the point of crossing to indicate that one location is

below the other.

d. How is a chain folded and unfolded ?

Afig. Chain Folding Process : In order to fold the chain, a chainman
moves forward by pulling the chain at the middle so that two halves

come side by side. Then he places the pair of links on his left hand
with his right hand until the two brass handles appear at the top.

Chain Unfolding Process : To unfold the chain, a chainman
holds the two brass handles in his left hand and throws the bunch
with his right hand. Then one chainman stands at a station holding
one handle and another chainman moves forward by holding the

other handle.
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e What do you mean by normal tension ?

AmC The tension at which the effect of pullis neutralised by the effe
(0 g

. -rect of
sag is known as normal tension. At this tension, the elongation, due
to pull is balanced by the shortening due to sag.

W2AE
(P.-P,)P 2_ WAL
n 0% n 24

where, P, = Normal pullor tension.
£ What is index sketch ?

AnZ During reconnaissance survey, a neat hand sketch is

) ch is prepareq
showing the framework of the survey. This sketch is known as the
index sketch.

f/
wat is an azimuth ?
& Th

e true bearing of a line is also known as its azimuth.
SECTION-B

2 Attempt any three of the following :

a,-Classify surveying on the basis of instruments

name all equipments necessary for the field wor
any one of them.

Refer Q. 1.4, Page 1-4B, Unit-1.

(Tx3= 21)
used and

Ansl

b. Explain how details can be

lines. Discuss the relative m

surveyed by offset from survey
Why are short offsets pref

erits of different types of offsets,
ferred to long ones ?
Ang
1. Perpendicular Offsets:
i

When the lateral measurements are taken perpendicular to the
chain line, they are known as perpendicular offsets, as shown in
Fig. 1.

Chain line
Fig. 1.

k involving ;

Surqeying {’::
N endicular off; P25 B
> I;r;mng a perpeie;isc:;ay B8 takep 1 e \
2 chain line. The pojn ora;ib)f SWinging a‘ea;: lfowing Ways ;
nj T i
base of the perpengicy) 8::}?:1,:& ing on :h:l ti\e Object to the [
’ Nin ig.2. Pe will he the
L.
e o)
se of perpeﬂdutulax ) )
e}
Fig. 2. »

b. By setting aright angle in the ratj

10 3:4:5 as showy in R

: . . ) Whin Fig 3.

¢. By setting a ngh§ angle with the help of builgey :
plerigi iy Fig 4 uilder's Square or trj-

d. By settingaright angle by Cross-staff op optical squ
are,

T O (Object)

90 (Object)
1
¢ i
S5m
3m & Building's
. D e — square
—L A 4m B

Chain line

\ o B
Chain line
Fig. 3. Fig. 4.
2. Oblique Offsets :

i. Any offset not perpendicular to the chaip line is said to be oblique,

i. Oblique offsgts are taken when the objects are at a long distance
from the chain line or when it isnot possible to set up aright angle
due to some difficulties.

iii. Such offsets are taken in the following manner -
a. Suppose AB is a chain line and P is the corner of a building.
b. Two points ‘a’ and ‘b’ are taken on the chain line.
¢. The chainages of ‘a’ and ‘b’ are noted.
d. The distances ‘ap’ and ‘bp’ are measured and noted in the field book.
e. Then ‘ap’ and ‘bp’ are the obiique offsets, as shown in Fig. 5.
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f. When the triangle adp is plotted, t.}_:le apex point p will represent the
position of the corner of the building.

B“\\d“ng’

“'/“7— Oblique
offset
O ke e —r—a e
a
A ¢ L Chain B
line
Fig. 6.

Relative Merits : Perpendicular offsets are preferred for the
following reasons :

1. They can be taken very quickly.

2. The progress of survey is not hampered.

3. The entry in the field book becomes easy.

4. The plotting of the offsets also becomes easy.
Reasons for Choose Short Offset :

1. The offsets should as far as possible be short ones as they are less
liable to be erroneous due to incorrect length of tape or incorrect
direction than if they are long.

2. Short offsets can be measured more quickly and accurately than
long ones.

3. Tie lines should be drawn to avoid long offsets.

/ staff readings for a survey work were as follows :
1.810, 2.110, 1.225, 1.455, 0.905, 2.435, 2.810, 2.675 and 1.765.
The level was shifted after the 4'* and 7" readings. The first

reading was taken on a bench mark of RL 50.000 rule out a
page of level book and enter the readings:

i. work out the RLs of all stations.

ii. If the staff were held invert and readings on a ceiling from
last instrument position was 3.500, Find the RL of the ceiling.

iii. Work out the staff readings on the top of 4 pegs at 20 m
intervals from the last station to give an upgrade of 1 in
100.

r‘,eying

Ans

sv Sp
~2

Given : RL of bench mqp),
Staff shifted after 4th 5 g 7:hi()e di
Pegsinterval =20 Gradient : lﬂi\ﬁs{(}a\ve

Tled =RE
To Find : RL of all statiopg reading =35

1. The reduced levels of the

Points are ca]

method and tabulated ang table 1 culated by rise and fa)l vely |
Table}. b |
Le}
2. Arithmetic check:
IBS-32FS  =3IRise-IFall =LastRL-FirstRL
=539-6.03  =1795-2435  =49.36-50.00
=-0.64 =-0.64 =-0.64
3. RL of floor = 49.36
Staff reading on floor = 1.765
Inverted staff reading = 3.500
Height of ceiling above floor = 1.765 + 3.5 = 5.265
RL of ceiling = 49.36 + 5.265 = 54.625 m
4. The first peg is at end point with staff reading 1.765, the staff
reading of the subsequent pegs at 20 m interval will depend upon
the rising gradient which is 1in 100
5. Difference in level between two consecutive readings = Distance/
gradient = 20/100= 0.2 m. '
The ground is rising by 0.2 m between the consecutive pegs.
6. Subsequent staff readings at pegs will be:
Peg 1 = 1.765
Peg2 = 1.765-0.2=1565m
L —
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Peg3 =1565-02= 1.365 m
Peg4=1365-02= 1.165 m

d What is Shift ? Prove that a transition curve bisects the
shift and that the shift bisects the transition curve.

AEE Shift : When a transition curve is introd}xced in circular‘cu,-\,e’
then the circular curve is found to be shifted by some distance

towards the centre. This distance is known as the shift of the curve.
Proof : Refer Q. 5.15, Page 5-21B, Unit-5.

e. Why is a curve provided ? Derive an expression for an ideal
transition curve.
Az Necessity : Refer Q. 5.1, Page 5-2B, Unit-5.
Derivation : Refer Q. 5.16, Page 5-24B, Unit-5.

SECTION-C

3. Attempt any one part of the following : (Tx1=10)

a. A steel tape was exactly 30 m long at 20°C when supported
throughout its length under a pull of 10 kg. Aline measured
with this tape under a pull of 15 kg and at a mean
temperature of 32°C and found to be 780 m long.
Cross-section area of the tape = 0.03 cm? and its total
weight = 0.693 kg. o for steel = 11 x 10 per°C and E for the

steel = 2.1 x 10® kg/cm?.
Ans Refer Q. 2.7, Page 2-9B, Unit-2.

b.- What are the sources of error in chaining ? What
L precautions would you take to guard against them ?

Ang Sources of Error : Refer Q. 1.10, Page 1-10B, Unit-1.
Precautions : The following precautions should be taken to guard
against errors and mistakes.

1. The point where the arrow is fixed on the ground should be marked
with a cross (x).
2. The zero end of the chain or tape should be properly held.
3. During chaining, the number of arrows carried by the follower and
leader should always tally with the total numbers of arrows taken.
4. While noting the measurement from the chain, the teeth of the,
tally should be verified with respect to the correct end.
5. The chainman should call the measurement loudly and distinctly
and the surveyor should repeat them while booking.

. In stepping operations_ 1,0«
properly maintained, horizontally and verticality shoug
should be

8. Ranging should be dope acecurate)
9. No measurement should be tak o
10. Care should be taken so that th,

4. Attempt any one part of the fo]lgws;

a. The following are the obs: Loving :
lines of a closed traverse,
for local attraction.

il .
N With the chajp in suspension

e chain ig Properly extendeq.

Lo | wo | |
\ EA \ 3700 \ 216°3(ﬂ

1. On examining, it is found that fore and back bearings of line BC
differ exactly by 180°. Stations B and C are therefore, free from
local attraction. Consequently, bearing taken at B and C are correct.
Correction in Bearing :
Fore and back bearings of BC are correct.
Also FB of CD = 90° 05’ (correct)
Add = 180° 00’
Correct BB of CD = 270° 05’
But observed BB of CD = 270° 00’ \
difference = 0° 05 =errorat D.
As the observed back bearing of CDd ilsh\:iz :;::I\to}‘x\eicso:z?ted one, ‘

therefore, the error at D is —ve an
Observed FB of DE = 80°35
Correction at D =0°05
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— 5. Attempt any one part of ty, .
. Corrected FB of DE = 80° 40 s, What is orientation? Wh:?;‘::‘l‘:‘g ' i
Add = 180° 00' Describe the methods with sket:hmﬂh"d’ of orientation ?
_ 260° 40’ - Orientation : Refer Q. 4.(e), P '
Gemsne 0 % A5% Method : Refer Q 4, Page, Spffgﬁs‘;"ﬁts, Solved paper 2012-13
But observed BB of DE = 261°40' at do you mean by contour"» I‘)e:lvﬁ‘d paper 2015-16
difference =1°00 =error at E. of contour. State the uses of coutocur:-be the characteristics sl
is i i E must be — ve. ang. Contour and its Uses : Refer Q 32 e L contours. 3J
This error is +ve, therefore, correction at Em e Characteristics : Refor Qe l:f_age 3-23B, Univ3
° 00’ - 9.23 Page 3-25B, Unpit.3 ) *
Observed FB of EA = 37°00 » Unit-3.
Correction at E =-1°00' 6. Attempt any one part of the following : (Tx1l= )
0 (N} a. What does the term ‘sensitiv g . x1=10
. Corrected FB of EA = 36°00 d bubble ? How the nsitiveness’ mean in the context of a
Add 180° 00" u sensitiveness of a bubble is determined ?
0o ABE Sensitiveness of the Bubble :
) = 216° 00’ i ;
Corrected BB 21 1. The term sensitiveness in the context of a bubble means the effect
But observed BB of EA = 216° 30 caused by the deviation of the bubble per division of the graduation
difference = 0° 30" = the error at A. of the bubble tube.
This error is +ve, therefore, the correction will be —ve. 9. Sensitiveness is expressed in terms of the radi
radius of curvature of
Observed FB of AB = 292° 15’ the upper surface of the tube or by an angle through which the axis
. i is tilted for the deflection of one division of the graduation.
Correction atil e Determining Sensitiveness:
. Correct FB of AB =291°45 1. Consider Fig. 6. Suppose the level was set up at O at a distance D
Check : Subtract 180° 00 from the staff at P.
correct BB of AB = 111° 45°, which agrees to the given 9. The staff reading is taken with the bubble at the extreme right end
BB of AB observed at the station B, which is free from local (i.e., at E). Say itis PA.
attraction.

3. Another staff reading is taken with the bubble at the extreme left

3. Corrected Bearings : end (i.e.,at E). Let it be PB.

The result may be tabulated as shown below :

Line Observed |[Correction Corrected J Remark:
FB BB FB BB
AB 292°15' | 111°45' | — 30’ at A | 291°45' 111°45' | Station A,
BC 221°45" | 41°45' OatB 221°45" | 41°45’ I:r:nd E
CD 90°05' |270°00' [ 0atC 90°05' | 270°05' | affected
DE | 8035 | 261740 | +5 atD | 80°40° | 26040 | by local
attraction

EA 37°00° |216°30' | —1°atE | 36°00" | 216°00’

b. What do you understand by balancing the traverse ?
Describe any three methods of adjusting traverse.
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4 Let D = Distance between the level and staff,
S = Intercept between the upper and lower sights,

n = Number of divisions through which the bubbe
is deflected.

R = Radius of curvature of the tube,
« = Angle subtended by arc EE,, and

d = Length of one division of the graduation,
expressed in the same units as DandS.

5. Movement of centre of bubble = EE, = nd.
6. Triangle OEE, and ACB are similar.

Here Ra = arcEE,
oo EE _nd ‘
=R "R ..(1)
(as arc EE; =chord EEI)
7. Again % = % (height of AOEE, may be considered as R)
nd S
R°-D w(2)
8. From eq. (1) and (2), we get
nd S
=== (3
a=7=7 (3)
R= nd x D
S
9. Let o' = Angular value for one division in radians.

or a' =

b. What do you mean by traversing ? Describe various methods
of traversing.

Traversing :
ot

SP-33 B (CE-Sem-3)

. Surveying W’l;l}::h involves a series of connected lines is known as
‘traversxng’ - The sides of the traverse are known as‘traverse \L,g',:
9. In traversing, the lengths of the lines are measured by chain and

the directions are fixed by compass or th b
angles with chain and tape, eodolite or by forming

Method : Q. 4.2, Page 4-3B, Unit-4.

7. Attempt any one part of the following : (Tx1=10)

a. Two straight intersect'at angle of 122°. The maximum
allowable speed of the vehicle on the curve is 80 km/hr,
centrifugal ratio is % and the rate of change of radial
acceleration is 30 cm/sec?. Calculate the radius of the
circular curve and the length of the transition curve.

Given : Intersect angle = 122°, Speed, V = 80 kmph
Centrifugal ratio = 1/4
Rate of change of radial acceleration, C = 30 cm/sec?

To Find : Radius of circular curve and length of transition curve.

1. The deflection angle, .
A = 180° -122° =58°
9. Speed of vehicle, <

v= 80 x 1000 m/sec = 22.222 m/sec
3600

3. The centrifugal ratio

_ _ Centrifugal force =_I_;‘_=W\r2 x_1_=i
Weight of the vehicle W gR W gR
7y L
gR 4
22.222° _1
981xR 4"
Radius of curve,
_ 22.222° x 4
T 981
=201.35m
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4. Length of the transition curve,

L=
CR

0 ¢ 3
= 22222 15167m
0.3 x201.35
b. What is the necessity of transition curv.
different method of finding out its length.

Ank Necessity : Refer Q. 5.14, Page 5-20B, Unit-5.
Meéthod : Refer Q. 5.15, Page 5-21B, Unit-5.

e ? Describe the

— 000
M@Mmm&i%@]:] ?CRHHOA" HQ""'wc(

TG Mehed & andd am’ Vé’o\J ot werk. G e,
Metiied “The Same amgh & added]  Seversl Hiwmea
M(chav\)m\\j ol e ﬁmeHi valua ca o M\ﬂ"* B
Ob-lalvd b oU\ﬁcl«\:/] lux Accuwmlg bl Yez-ch«l] by o
Ne ’xﬁk:ch'h‘ovl&-

“The no. <'J Y?)*HH”M Moda waudly L 4l Mehad

Six ,Pmee Lt aaLL \e'}-\ Banch Hrce b A foor
'\’5\]‘-&‘ ¢ dn - wtw, amf]w) Con ba MioAupedd —o A Jjnm’r

cleqee ‘(’) ath.a\tj tham et phladnable s ha tax

leepd Covcl &) ~Pu Verniey

LN 2
/\

()
Ha'-rii'o\-htl a-wj(,; AOQ

L ('ﬂf\.cr‘o

ki Loon
hiventes_omge by fehndin =

: Ve
wetmer breciae onnd [MP‘HL‘”L"
on ewzendlar anglen:

Meas wmend 03
/

c M?“"\C“ 3’ a
2 “Twe

Mol Mttwed ) MEad

AW - : =) 14«1
~ ¢ Seni €
p a) 8@ (uJVJ P (4 J( (' [TUAN P A
’ j" AN (I : \ . I
to L} mea.‘)w\ul a‘i a ‘)(%L»\Ia} .S'Lshc\..o it
ONe AD ,L:« Meaw;:j Su/(r.d a.v:alsm Suceen \KJ
0 -’l‘v& mt%\,od Covaa )

Wewzow o) Y S-!mrh'«]

. Armn P
0““C' jﬁﬂm\j Cll‘ﬁtj oy A .SlncLJd be Samne an

) 7 A Vewn
o T el Teediy "d
B Lare] Teadid:

Scanned by CamScanner



